## ORDER #004653



02/05/2024 08:00 AM | Install - TBD

02/06/2024 08:00 AM | Install - TBD 02/07/2024 08:00 AM | Install - TBD

02/09/2024 04:00 PM | Event 02/11/2024 11:59 PM | Strike - Night

Vegas

02/04/2024 12:00 PM | Crew Arrival - Las

Shipping Address: LAS VEGAS, NV

P0:

Order Date: January 25, 2024 Due Date: Upon Receipt

Cyrano Rox Experience

530 Molino St Suite 104 Los Angeles, Ca. 90013

EVENT DATE: FEBRUARY 9TH, 2024

\*\*INSTALL: MONDAY 02/05 MORNING\*\*

\*\*PICK UP: SATURDAY 02/10 MORNING\*\*

	Qtty	Price		Total
E				
White Dance Floor, 40ft x 30ft	1	\$1,800.00	Т	\$1,800.00
Chrome Metallic Decal Wrap - 28' x 25'	1	\$4,075.00	Т	\$4,075.00
Plastic Roll (TO COVER DANCE FLOOR)	1	\$120.00	Т	\$120.00
	То	Total RETROSPECTIVE		
Lola Cocktail Table- Silver Wrapped Chrome Decal	3	\$150.00	Т	\$450.00
Dubai Cocktail Table	5	\$110.00	Т	\$550.00
Orley Bar Stool	16	\$18.00	Т	\$288.00
Lucite Bar, Straight 6ft WITH LED LIGHTS	1	\$225.00	Т	\$225.00
		Total PURPLE SKY		\$1,513.00
AREA				
Suede Bar Stool, Black frame / Yellow Cushions #426 ROYAL VELVET YELLOW	6	\$20.00	Т	\$120.00
Suede Bar Stool, Black frame / Orange Cushion #ATOMIC BELLA	6	\$20.00	Т	\$120.00
Amalfi Communal Table, 8ft x 2ft - Dining Height DARK WOOD COLOR	8	\$75.00	Т	\$600.00
Mayflower Benches SEATING FOR AMALFI COMMUNAL TABLES	4	\$75.00	Т	\$300.00
Industrial Dining Chairs, Black	16	\$14.00	Т	\$224.00
	Chrome Metallic Decal Wrap - 28' x 25'  Plastic Roll (TO COVER DANCE FLOOR)  Lola Cocktail Table- Silver Wrapped Chrome Decal  Dubai Cocktail Table  Orley Bar Stool  Lucite Bar, Straight 6ft WITH LED LIGHTS  AREA  Suede Bar Stool, Black frame / Yellow Cushions #426 ROYAL VELVET YELLOW  Suede Bar Stool, Black frame / Orange Cushion #ATOMIC BELLA  Amalfi Communal Table, 8ft x 2ft - Dining Height DARK WOOD COLOR  Mayflower Benches SEATING FOR AMALFI COMMUNAL TABLES	White Dance Floor, 40ft x 30ft 1  Chrome Metallic Decal Wrap - 28' x 25' 1  Plastic Roll (TO COVER DANCE FLOOR) 1  Lola Cocktail Table- Silver Wrapped Chrome Decal  Dubai Cocktail Table 5  Orley Bar Stool 16  Lucite Bar, Straight 6ft WITH LED LIGHTS 1  AREA  Suede Bar Stool, Black frame / Yellow Cushions 426 ROYAL VELVET YELLOW  Suede Bar Stool, Black frame / Orange Cushion 6 #ATOMIC BELLA  Amalfi Communal Table, 8ft x 2ft - Dining Height DARK WOOD COLOR  Mayflower Benches 5  EATING FOR AMALFI COMMUNAL TABLES	White Dance Floor, 40ft x 30ft 1 \$1,800.00  Chrome Metallic Decal Wrap - 28' x 25' 1 \$4,075.00  Plastic Roll (TO COVER DANCE FLOOR) 1 \$120.00  Total RETROSPECT  Lola Cocktail Table- Silver 3 \$150.00  Wrapped Chrome Decal  Dubai Cocktail Table 5 \$110.00  Orley Bar Stool 16 \$18.00  Lucite Bar, Straight 6ft 1 \$225.00  Lucite Bar, Straight 6ft WITH LED LIGHTS  Total PURPLE S  AREA  Suede Bar Stool, Black frame / Yellow Cushions 6 \$20.00  #426 ROYAL VELVET YELLOW  Suede Bar Stool, Black frame / Orange Cushion 6 \$20.00  #ATOMIC BELLA  Amalfi Communal Table, 8ft x 2ft - Dining Height 8 \$75.00  Mayflower Benches 4 \$75.00  Mayflower Benches 4 \$75.00	######################################

Description		Qtty	Price		Total
	Custom: Street Sign Frame 2 Street Signs   Actual street sign dimmensions   Double sided graphic	1	\$300.00	Т	\$300.00
	PICNIC TABLES	2	\$175.00	Т	\$350.00
	PAINT PICNIC TABLES PURPLE COLOR	2	\$75.00	Т	\$150.00
		Total TA	ACO CULTURE AF	REA	\$2,164.00
CHICKEN CANT	INA AREA				
	Decal, 24" x 8.5"h  Design on communal counter seating	2	\$175.00	Т	\$350.00
	Custom Wood Dining Table - 6' x 30"  Dark Wood Stain   In front of banquettes   Hair Pin Legs	6	\$350.00	T	\$2,100.00
	Dark Wood Cabana Option - 33' x 24' x 12' H Dark Wood Finish   (2 Center over head supports	1	\$3,150.00	Т	\$3,150.00
	Custom: Dark Wood Banquettes - 8ft Section Stained Dark Wood Finish	6	\$1,050.00	Т	\$6,300.00
	Long Communal Counter - 24' Custom Built - behind banquettes   stained to match cabanna   Client provided dimensions	2	\$2,750.00	Т	\$5,500.00
A	Industrial Barstool, Black SEATING FOR COMMUNAL TABLES	20	\$12.00	Т	\$240.00
	Custom Bentwood Chair, Fruitwood Top Portion Painted	20	\$25.00	T	\$500.00
,	Sofia 360 Bar - Half Round - (Small Version) Painted Black *	1	\$850.00	Т	\$850.00
	Custom Decals for Bar	6	\$25.00	Т	\$150.00
	Arch Shelving Unit, 16ft - Painted Purple FOR SOFIA HALF ROUND BAR / NO SCONCES	1	\$1,500.00	Т	\$1,500.00
	Artificial Green Trees FOR BAR AREA	4	\$550.00	Т	\$2,200.00
	Fushia Round Ottomans, 48"	3	\$95.00	Т	\$285.00
		Total CHICK	(EN CANTINA AF	REA	\$23,125.00
BAJA BLAST					
	Acrylic Cube, 19" x 19"	6	\$45.00	Т	\$270.00
	Led Uplights (FOR ACRYLIC CUBES) (2) SETS OF LIGHTS FOR THE CUBES	12	\$40.00	Т	\$480.00
	Lucite Bar, Straight 6ft WITH LED LIGHTS	1	\$225.00	Т	\$225.00

Description		Qtty	Price		Total
	Custom Full Decal Wrap (FOR LUCITE BAR) TRANSLUCENT WRAP	1	\$375.00	T	\$375.00
			Total BAJA BLAST		\$1,350.00
GENERAL SEAT	TING AREA				
	Infinity Sectional, Black	10	\$150.00	Т	\$1,500.00
	Celine Ottoman, Black	6	\$55.00	T	\$330.00
	Gem Coffee Table, Gold	2	\$95.00	T	\$190.00
	Sienna Sofa, Beige	5	\$400.00	T	\$2,000.00
	Wired Coffee Table	4	\$125.00	T	\$500.00
	Celine Ottoman, Off White	16	\$55.00	T	\$880.00
	Round Boucle Pillows	10	\$15.00	Т	\$150.00
	Infinity Sectional, Taupe	12	\$150.00	Т	\$1,800.00
	Darzy Club Chair, Off White Boucle	4	\$200.00	T	\$800.00
	Gem Coffee Table, Gold	3	\$95.00	T	\$285.00
	Celine Ottoman, Taupe	12	\$55.00	T	\$660.00
	Satin Pillow - Hot Pink	10	\$10.00	T	\$100.00
	Satin Pillow - Purple	10	\$10.00	T	\$100.00

Description		Qtty	Price	Total
		Total GENERAL SEATING AREA		\$9,295.00
Services				
	Crew Transportation Travel Vehicles for Crew   LA to LV round trips	2	\$1,250.00	\$2,500.00
	Trucking Fee	1	\$3,250.00	\$3,250.00
	Install Fee - Day 1 Monday 02/05	6	\$440.00	\$2,640.00
	Install Fee - Day 2 Tuesday 02/06	4	\$280.00	\$1,120.00
	Strike Fee Sunday 02/11	6	\$560.00	\$3,360.00
	Travel Fee - Install - LA to Las Vegas Round Trip Sunday 02/04	12	\$200.00	\$2,400.00
	Travel Fee - Strike - LA to Las Vegas - Round Trip Tuesday 02/13	12	\$200.00	\$2,400.00
	Per Diem Fee (6) Crew   5 days	1	\$2,070.00	\$2,070.00
Notes			Total Products:	\$43,442.00
		Total Labor/Services/Misc:		\$19,740.00
			Taxes:	\$3,507.94
			Discounts:	(\$6,516.30)
			Total:	\$60,173.64
			Payments:	(\$0.00)
			Balance:	\$60,173.64